NOTCHES
ORIENTED
TOWARDS
INSIDE

Front Panel
i TS-01-26
Revision 1
WILL NOW SUIT TS-01-34S
THE FOLLOWING TS-01-34
CABINETS: TS-01-42

HARDWARE LIST: 2 Seperate Bags

Mounting to Truck Floor

2pc M8 Grade 8+ 25mm Long Zinc Hex Bolt
2pc M8 Flat Washer Zinc

2pc M8 Lock Washer Zinc

For Subframe Assembly:

16pc 1/4-20 Hex Bolt Zinc 1in Long
16pc 1/4 Flat Washer

16pc Lock Washer

1S-02-CD
1S-02-3D
1S-02-4D
1S-02-HC

REV. DESCRIPTION

Rear Mounting
Bracket (x4)

BY DATE APPROVED

Rear Panel
X1
FRONT OF VEHICL
48.00
[n} [n]
CP Da a ° D [u] ® qJ
a a o o a
- > [
(] (]
Q (m] (u} Q
a o
35.00 UNDERSIDE VIEW 15.00
(u] a
[n] Q a 5 (n]
2 (1)
S o © o &
a o

oIy T

[ [

NAME

BW

DATE

08AUG14

DRAWN

CHECKED AD 08AUG 14

THE INFORMATION CONTAINED
WITHIN THIS DRAWING IS
PROPRIETARY AND CONFIDENTIAL.
AND IS THE SOLE
PROPERTY OF DandR
ELECTRONICS CO. LTD. IT MAY
NOT BE REPRODUCED AT WHOLE
OR IN PART WITHOUT THE
WRITTEN PERMISSION OF DandR
ELECTRONICS CO. LTD.

FINISH
MIDNIGHT BLACK WRINKLE

SIZE

DANDR-ANSI-A
REV2

{4’1%\ ELECTRONICS CO.:o
R APRIL 1,2009

Path: \\server-file\data\MECH ENG\MECH_DESIGN\2015 Chevy Tahoe Sub-frame\
File: 933-0111A
Date: October-08-14 11:52:36 AM

DESCRIPTION:

TAHOE Subframe 2015
MFG. NO. 933-01 1 ‘IA CATALOG. NO.
vED N SHEET 1 OF 2
MATERIAL REV.
0



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


